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MATHEMATICS — GENERAL
Paper : DSE-B-1
(Advanced Calculus)
Full Marks : 65

didates are required to give their answers in their own words
as far as practicable.

set of real numbers and the set of natural numbers respectively.
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(iv) Nothing can be said.

5x%3
: x2n
| of the sequence of functions { S, (0)}, where f,,(x)= T xe[0,1].
G +x
=e* in a half range Fourier cosine series in 0 < x <.

9 o 22}:2 33x3
vergence of the power series x+ 7 +T+""

er series expansion for (l+.7c)"l -—-l—x+x2—x3+...,| x | < 1, show that,

theorem deduce that,

2+(5+3)



(7) (Z(6th Sm.)-Mathematics-G/DSE-B-1/CBCS |

eierstrass M-test for uniform convergence of sequence of functions.

,x€e[0,1],neN. If f be the limit function of { f,(x)}, then show

X
N
2+(5+3)

743

es converges to f(x)? 7+3

, L{f (0} = F(S). 5+5

0, 0<r<1
nction f(#), where, f(f)=4t, 1<r<2.
UNs>2

4+6

S gy

| where L{ /() = F(S).

..s

Ilﬁwing differential equation :

4+6



